Bryan Berns

ECE-340

Homework 2
3.4)

a.
Acts as an OR gate, thus:
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(Cuts off 1V since a current positive current would be flowing through D1 if it was not cut off)

b.

Acts as an AND gate, thus:
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(Cuts off 3V since if D2 was on 1V and 3V would be on the same wire)

3.10)

a.
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b.
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We must acknowledge that the diode is off since the higher voltage is on the left, and if the diode was conducting, a current would be moving backward through it, which cannot happen.


[image: image5.wmf]5

.

2

5

.

7

5

0

-

=

-

=

=

V

I



3.25)

a.

Since the voltage over the second diode is relative to 0, we can find the voltage potential after the first diode by the following equation:
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b.

Altering the variables to find a needed current:
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3.38)


a.
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b. 
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3.49)


a.
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b.
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